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Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 40 tions.
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Candidates must w heir Roll Number on the question paper.
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Before answering the question, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.
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General Instructions :
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All questions are compulsory.
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(i) @& TIT Sy FAT-gréaHr H ey

Write correct answer in your answer-book.

[ 3ferd ]
[ HISTORY ] [ M. M. : 05
1. o w9 g=em g a9y garr ? 1
(A) 1815 (B) 1816
(C) 1817 (D) 1818
Vienna Congress Convention was held in which year ?
(A) 1815 (B) 1816
(C) 1817 (D) 1818
2. 9RT F GeA Hllieh THER-T HiA-A1 o1 ? 1
T g (B) I o7
(C) THMEM =Hiseh (D) & FHrER
Which was the first weekly newspaper of India ?
(A) The Hindu (B) 'Bengal Gazatte
(C) Samachar Chandrika (D) Bombay Samachar
3-@%%&%#@5%%%@ 1
(A) Wﬁweﬁg&mmﬁr (B) §N I= S SR HereAT i

(C) efo o Wo\ﬁ%‘sﬁwaﬁ?mmﬁ (D) T & P &
Poona Pact w. Q%etween whom ?

(A) Jawaharlal Nehru and Mahatma Gandhi

(B) Subhash Chandra Bose and Mahatma Gandhi

(C) Dr. B. R. Ambedkar and Mahatma Gandhi

(D) None of these

4. AR GEE B AGD o 2l (cenforsT ot /e Tieft) |

The author of the book 'Gulamgiri' is ...............
(Jyotlba Phule/Mahatma Gandhi)

5. FgeER @ v ;1 hEE & 7 1
What do you mean by Absolutism ?
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KERICREEIEN
[ POLITICAL SCIENCE ] [ M. M. : 15
6. frfafad & § feg T # SgdeasarR & STERer R S © 7 1
(A) i (B) 9Rd
(C) U (D) e
In which nation majoritarianism is followed ?
(A) Sri Lanka (B) India
(C) Nepal (D) Bhutan
7. Afcrw § frw gfaed A &R S99 S SR 5 7 1
(A) 40% (B) 60%
(C) 59% (D) 41%
How many percentage of people in Belgium speak the Dutch language ?
(A) 40% (B) 60%
(C) 59% (D) 41%
8. R Y a0 B W A S &S gee e @ R ? 1
(A) S s (B, emferemTie AT
(C) wEHETH Wl (D) ™ § H3 7
Which status is given to @di language by the Indian Constitution ?
(A) National Langua ‘Q\ (B) Official Language
(C) Majority Langu(b. (D) None of these
, N
9-%%1@3%@?—@@@@%7@?%? 1
() e A (B) ¥
() e (D) PN
Which of the following is not a subject of the Union List ?
(A) Foreign (B) Currency
(C) Banking (D) Agriculture
10. 9RA ¥ ARl & T e & -8 ®«RX W G & AR B m@ e ? 1
(A) g |qq (B) WM &
(C) b & (D) fagm &=
At which level of government in India the seats are reserved for women ?
(A) Rajya Sabha (B) Local Government body
(C) Lok Sabha (D) Vidhan Sabha
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11. 9RAY ST UIE &l O e g3 1
(A) 1980 (B) 1975
(C) 1970 (D) 1990
When was the Bhartiya Janata Party established ?
(A) 1980 (B) 1975
(C) 1970 (D) 1990
12. @ a9 f69 T H oD o & 7 1
(A) B (B) US
(C) HBRTS (D) &
'Shiv Sena' is the political party of which State ?
(A) Haryana (B) Punjab
(C) Maharashtra (D) Kerala
13. I I & TN Fed & P AiF 9 FAE § 6% AA AGAT 4 (€IS U g8 & ? 1
(a) & (B) TEH &
(C) TedET T (D). 38 & Hig el

What is the party that has got six percent vote or four seats in the Lok Sabha
elections ?

(A) Regional Party (B) National Party
(C) Alliance Party (D) None of these
14. T% JoTiies qXh iﬁv‘ﬂ%@@ﬁ@?ﬂ Bl § ? 1
&
(A) T N B) &
(C) ST Q\Q (D) oYU
A Democratic &ernment is accountable to whom ?
(A) President (B) Forces
(C) Public (D) Governor
15. UF 3q &l BISH GEX & § oI S Pl M Fad © 7 1
(A) IR (B) I I
(C) TT-s&d (D) 9 & e 7l
Leaving one party and moving to another party is called :
(A) Transfer (B) Leave the party
(C) Defection (D) None of these
16. iedirh Haed Sl a9 ATee Faeel § Jea% e ol (F/577) 1
Democratic system is better than other form of Government. (True/False)

5507/(Set : B)/ I

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

(5) 5507/(Set : B)

17. 39 Te7 R GR § a0 A & U e N i ql B FEHE Bl oo
%ol S ol (YTt & /&9 TE) 1
A group of people who come together to contest election and hold power in the
Government is called a ............... . (Political party/Pressure group)
18. WM WAET Pl THEAT Bl BEBT oo a9 1 &l Bl (8: i /arer ad) 1
Local Self Government bodies have a tenure of ............... years. (Six/Five)
19. T8 5 & 7 74 ¢ ? 1
What is the meaning of Civil War ?
20. I UEEd H G 91 & [0 GAGH oY T S ? 1
What is the minimum age to become a member of the Gram Panchayat ?
[ T ]
[ GEOGRAPHY ] [ M. M. : 15
21. =Y ol HE GHER B HEET § 7 1
() TdHTE (B) SO
(C) WP (D) S
Which type of resource is é@al energy ?
(A) Renewable QK\ (B) Unrenewable
(C) Man Made &2, (D) Biotic
NS
22-%%3@%@8%#@@@1%? 1
() e S (B) g
(C) wewEe e (D) wowig el
The Northernplain of India is made by which soil ?
(A) Black soil (B) Alluvial soil
(C) Laterite soil (D) Desert soil
23. 9RA & F W@ & F e G A9 R s 7 1
(A) 30% (B) 20%
(C) 35% (D) 43%
How many percentage of the total terrestrial area of India is plains ?
(A) 30% B) 20%
(C) 35% (D) 43%
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24.

25.

26.

27.

28.

(6) 5507/(Set :

fr=ifafad & & @F-9 Tg & degAT HY & S o 7

(A) feuEw & (B) &R

(C) T (D) U

In which of the following states, step (Terracing) farming is done ?
(A) Himachal Pradesh (B) Haryana

(C) Rajasthan (D) Punjab

WA H -9 & § I F1 e q99 e o ¢ 7

(A) HA 9RA (B) uf¥eml €€

(C) T-HagS & HaM (D) I HE

Which region of India is produced most production of wheat ?

(A) Central India (B) Western Ghat

(C) Ganga-Sutlej plain (D) Eastern'Ghat

TE TN I el Bl del wd @ T 7

(A) I (B). T=%

(C) Rl (D). T

Where was the first textile factory was established ?

(A) Chennai (B) Mumbai

(C) Delhi \\Q&Q (D) Calcutta

WA & e & 7 ~3EI JET e B o 7

(A) HIEEl O &QQ} (B) Bl TFYR o

(C) Tax-ul @%{ (D) Uf¥=H H1e

In the which region.of India, Iron and Steel industries are established ?
(A) Malwa Plateau (B) Chhota Nagpur Plateau
(C) North-West Region (D) Western Ghat

qe TERT TH I ©

(A) FR R &AW (B) @IEI¥e &

(C) TN aeRa &N (D) FH & & Tl
Textile industry is an example of :

(A) Agro based industry (B) Cooperative sector
(C) Mineral based industry (D) None of these
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29.

30.

31.

32.

33.

34.

35.
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A Heeh IS & TS % gl ?

(A) 1990 (B) 1980
(C) 1960 (D) 1950
When was the Border Road Organisation established ?
(A) 1990 (B) 1980
(C) 1960 (D) 1950

qRA % 999 g91 92T HH-a1 & ?

1

(A) s (B) T

(C) fasmEme™ (D) @

Which is the biggest Port of India ?

(A) Kandla (B) Mumbai

(C) Visakhapatnam (D) Kochin

IRaed & qed e A B § ¢ 1

(A) X&d (B) . <iet. UfRae~

(C) TeH IR (D) arg URaed

Which is the fastest mean of transport ?

(A) Railways (B) Waterways

(C) Roadways K\§ (D) Airways

STl B BIEHT T RSP TN P T I B 1
N (a3 /A 5

Slash and bu@agrioulture isan example of ................... .

(Shifting agriculture /Commercial agriculture)

URaeT P T TEAET .o 2l RERESIER PG R A GRS

1

Cheapest means of transport is ................ . (Pipe Line/Road Transport)

BT s &1 o1 § ?

What is the meaning of Green Revolution ?

ARG &N H IRATNT H1|
Define the Basic Industry.
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37.

38.

39.

40.
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[ Srefamre |
[ ECONOMICS ] [ M. M. : 05
.............. U TG HRF @l &, P Igdimter H kb H g B 1
(A)  HIE (B) T
(C) THPIER (D) Trilch

................. has been one of the major factor that has stimulated the
globalization process.

(A) Democracy (B) Monarchy

(C) Socialism (D) Technology

2006 % AR fag@ AR €6 & e 29 qee & 7 1
(A) 100 (B) 120

(C) 149 (D) 200

According to 2006, how many countries were the member of World Trade
Organization ?

(A) 100 (B) 120

(C) 149 (D) 200

piceh TTEHT BT QBT HXeh Th AR Bl G BT v % T T Bl 1
(A) a8 & (B) fades &=

(€) g & N (D) T A B

Production of a goo@gby exploiting the natural resources, in an activity of the
............... sectorQ\Q

(A) Primary@ (B) Secondary

(C) Tertiary (D) None of these

ufer iR ST B e % TW & A ST S 8 (7 oma/afeq o) 1
Per capita income is also known as ................. . (Total income/Average income)
ag] fafvma gomelt & Fn o B 7 1

What is the meaning of Barter System ?
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